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22) When a middle term does not go further than producing a state of mental oscillation between two opposite views, the case is of
ol U 3 ol fada efteomivil & dia amiiins Siciol 61 Rrefv seusol et A A3 ol i 2, dl 418 mefciiaa o1 S 2 :

[Question ID = 1977][Question Description = $2_qSNz_PG_GP10_Q27]
1. Fallacy of Viruddha/fasg @ ot 3
[Option ID = 7905

[Option 1D = 7906]
3. Fallacy of Asiddha/af3rg oo ool S \

[Option ID = 7907]

4, Fallacy of Savyabhichara/ sreivemz o rorf o QQ

[Option 1D = 7908]
23) The Fallacy committed in the argument 0

efore, some reference books are

"All textbooks are books intended for careful study. Some reference books are books intended for careful
textbooks." is

foraifeiiian aad 3 wiorm aal Su &

"all g g smaemsiigde e dg abiga gread 8 oo el gred il grad § st waemmsiigda . grad B am: @p siol grad agagrad §
[Question ID = 1978][Question Description = $2_qSNz_PG_GP10_Q28]

1. Ilicit Major /e s «

[Option ID = 7909]
2. Ilicit Minor/ e as

[Option ID = 7910] 0
3. Fallacy of four Terms/ars udl mi rerd &

_[Option 0 - 7911]

| 4. Undistributed Middle/ sitwism g
[Option 1D = 7912]
©
24) In an illustration of inference that the 'Sun moves, lik \rnoving objects its position changes' represents
‘el anftretten &, Rsafl wawr aiffrelter ey &t miley sorebl araafdarf?y anfl B ' aepaner w1 an sewsor s gffeitra oy & 7
[Question ID = 1979][Question Description = 52_ GP10_Q29]
1. PlOrvavat Anumana/gifory
[Option 1D = 7913]
2, Sesavat Anumana/ g
! [Option ID = 7914]
T T

[Option ID = 7915]
4. Pakshta/usiu
[Option 1D = 7916

[Question 0][Question Description = S2_qSNz_PG_GP10_Q30]
1. Truth' and " may be predicated of propositions but never of arguments/ s ity "xofa Fkorr & R & oY § o, o ool sl

[Option 1D = 7917] : — . I p— ——
2. In the case of deductive argument, the technical terms ‘carrect’ and ‘incorrect’ are used./ P o o ot Arad e ‘wext et o mr el 2w 2

[Option ID = 7918]
3. Inductive arguments are neither valid nor invalid but evaluated as better or worse/ ssmatarn aaf & ot & @3 e & & *fu sewm graioa A som gome © =u i Fom swn 8

[Option 1D = 7919]
4, The conclusion of a deductive argument follows from its premises necessarily/Bauwnram oo o Bwrd aftsmed: et ook & Feoesm 2

[Option ID = 7920]



16
) What comes next in the following sequence?

0.25, 2.25, 6.25. 12.25, ?

(1) 1825 @ 19.25
® 162 E——
414 faw o s O soredt qen w0 A
0.25, 2.25, 6.25, 12.25, ?
(1) 18.25 (2) 19.25
® 162 @ 02

[Question ID = 1021][Question Description = 121_00_General_19_0CT22_Q21]
1. 1 [Option ID = 4081]
2. 2 [Option ID = 4082]

3. 3 [Option ID = 4083] QQ\
17) Kavita's age is eight years more than thrice the sum of the ages of her two w
are twins. Nine years later, Kavita's age will be one yvear more than two ti f the

ages of her two mndms.Whatmtheageanaﬁuwhmhermm?

(2) 68 years
(3) 65years (4) 28 years @

e 4 35 7% 9 g Nl % i A A s A sifir #) A el ane, #fam A o a6
&1 35 % AW F FE A vE A 1 7 a0 39 R S 3 g2 Tl S gsn a?

@ 68mi

(4 28

The population of a bacteria culture doubles every 2 minutes. How many minutes will it take
for the population to grow from 1 to 10242

(1 10 2 14
® 18 cwom
Afazien e 6 wwen 71 2 fugz 0 2@ @ sl 21 Affen wew ) den 9 148 1024 @ 99 4 fFaa ez
w1 quA e
(1 10 2 14
® 18 @

[Question ID = 1023][Question Description = 123_00_General_19_0CT22_Q23]
1. 1 [Option ID = 4089]
2. 2 [Option ID = 4090]

| 3. 3 [Option ID = 4091]




"7} Given below are two statements:

Statement I: A fraction can be reduced to its lowest form by dividing the numerator and
denominator with a common factor.

Statement II: Two fractions can be compared by comparing their numerators if their
denominators are equal.

In the light of the above statements, choose the correct answer from the options given
below:

(2) Both Statement I and Statement II are false. Q\
(3) Statement I is true but Statement II is false

4 Statement I is false but Statement IT is true (bQ

A @ e fao o ) ven s rtion A) % 4 # ferfiaa 2 &) 250 29% #71 (Reason R) % v 4 :
F441:  fopdl = , #0912 T o w2 afe s oam e # B sarads | gm 2
ez

#4411 & @ A E, Al e s qe & g = ) e ) qeen oo 2)
m%ﬁ.mﬁuqﬁnﬁﬁﬁﬁﬁmmmﬂﬁq:

(2) w1 s A e §
(3) w18 R, Afe #9493 1T 3w 2
(4)  wue ] sEe R, Sl Fea w2

[Questio I =104][Question Description = 124_00_General_19_0CT22_Q24]

o 4 'l'. D - 4094
3. 3 [Option ID = 4095]
4. 4 [Option ID = 4096]
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20)
Pﬁmofambﬂeisﬁrstincmnsadhy%ﬁmdhmdm&ﬁ%. What is the net
percentage change in final price of the mobile?

Cm e & m-,&\}

(3 20% 4 12%

UF HEREA F 7 9 MWM%WM%%WZN@IW% i zm 1 Fa wfawa
gfrads = 27

@ 0% ,é){}a%

(3) 20% 12%
>

[Question ID = 1025][Question Description G’_OO_General_i?_OCT 22_Q25]

!. ! |!t!n |D B B!I 6
3. 3 [Option ID = 4099]
4. 4 [Option ID = 4100] K@

\\
a.,\\‘é




21) Given below are two statements:

Assertion A: There are certain psychological conditions under which inference takes

place.
Reason R : Absence of positive knowledge and will to infer its presence or absence are
pre-requisites for inference to be drawn.
In the light of the above statements, choose the correct answer from the optjghg given
below:

(2) BathAandRmtrunbutRisNOTthemrmctexplmationd%‘b
(3)  Ais true but R is false O
(4) A 1= false but R is true @

14 @ v fao o B v sifegas wh A) % ¥ 4 feifiga 2 41 2401 39% %1 (Reason R) % #44 :
sfumaa A - wfam gt #efl & Fordh srenta Fsad Femer s 2
FIR:  HEEEE : st gl aufeafa sga safiafa @ Fead Ferem ) =0 @

e 1 Y o s 2
mm%u@ﬁmmwﬁ A 5@ 37 ) w5 Fifan)

) Agaaﬁuaﬁaﬂm_aﬂaamaﬂ%a

3 Axd2afE RaEH A R
(4  A#daf 2 afEa Rad d

[Question ID = 1026][Question Description = 126_00_General_19_0CT22_Q26]

3. 3 [Option ID = 4103]



22) Match List T with List II :

ListI List IT
(A) Fallacy that occurs due to appeal to non- (I) Argumentum ad Hominem
rational methods of intimidation

(B) Fallacy that occurs when an argument (II) Accident Fallacy
makes an appeal to the character of the
person

(C) Fallacy that occurs when an argument is (III) Argumentum ad Populum
in the form of emotional "appeal to the

gallery”

(D) Fallacy that occurs when a general rule is (IV) Argumentum ad Baculum (force)
gppﬁe@toacaseinwhichtheruleis
mapphicable

Choose the correct answer from the options given below:

O @-OM @ -a) (€ - D, D -dav Q\
2) (A -1, B)-{dn. () - @M. (D - av)

® @-a. ®-a. ©-®O @ -dD QQ

I
s 1 -t i @ ade w9 ¥ (D sty e Afien

FEW BE A o A

é 1 E AT A
0 ) =t % = i m An A A w (D e A (e )

% (C) A= 1 GFa F43 61 WaAwss Jfm @ (D) S 3fF (arde=s v wgen)
(D) @ v% HEE FEE W IgEm & Beows @ (V) 5= 3fE (Frees v i)
=i =% A T T w weEen A

a1 o o el & w3 o s it

@ @A-M @ -3d. (© -dn @ —av
2 @-dan @ -da. ©-@o @O -av
3 @A@-a @ -av. © -@ @O - db

[Question ID = 1027][Question Description = 127_00_General_19_0(T22_027]
1. 1 [Option ID = 4105]
2. 2 [Option ID = 4106]

(8] 41




23
} Which of the following is not a fallacy of Ambiguity?

(1)  Equivocation (2)  Amphiholy
- ET———
fferfia @ 8 9 fasedam a1 adam (Sem s viemgfz) =6 27
(1)  wfaadm (sFearem) 2 ufewEe

@ T o ey

[Question ID = 1028][Question Description = 128_00_General_19_0CT22_Q28]
1. 1 [Option ID = 4109]
2. 2 [Option ID = 4110]

24 Givmbehwmtwoatatnmmtgie as Assertion A and the other is labeled as

Reason R. \
Assertion A : Ampﬂn%aonlydmtaﬁonbutmmataﬁon.

Reason R : Intengi to set of adjectives; Extension refers to set of substantives.

In the hght of ¢ statements, choose the correct answer from the options given
below:

A and R are true but R is NOT the correct explanation of A

2
is true but R is false
% A is false but R is true
\ Awaa faum §) v i (Assertion A) ¥ #0 i ferfira 2 1 6 39% #11 (Reason R) % &1 i ;

€)™ v . s v e v (i) i, ek () 8 0

FOIR: 7 R (W) W Ae AR W UF 32 5 R aead (T9EIIH) W Eed A
(wmgzi=a) 71 2

It A % et 1, 1 fow o faedi 4 & ad 3w = il

(2) AR a2 s R, A6 od =mEn ad 2)
3) AnAzafsREd IR
@  A"#A A 2 EfE Rad B

[Question ID = 1029][Question Description = 129_00_General_19_0CT22_Q29]

3. 3 [Option ID = 4115]
4. 4 [Option ID = 4116]



25)
If *All college professors are entertaining lecturers’ is True in a square of opposition which of

the following can be inferred correctly from the given codes.

(A)  ‘No college professors are entertaining lecturers’ is false

(B) ‘Some college professors are not entertaining lecturers’ is true
(C) 'Some college professors are entertaining lecturers’ is true

(D) ‘Some college professors are entertaining lecturers’ is false

Choose the correct answer from the options given below: \
()" (A) and (B) only (\QQ)

(2)  (B) and (C) only (b
(3)  (C) and (D) only
W A Qedy 69

<
/\&3

.\0
aﬁ“ﬂmﬁm@mm%@%ﬁn&ﬁﬁﬂﬂm—mﬁmhw?nmﬁ?

(A)  HTE T AR 8 - 5aea R
B) ‘g Fiera Wi g TR -wa?
(©) ¥t YA ST & - Hea 2

(D) Fﬁ AR AT # - e B

mﬁ@wwmmmwﬁm

(1) mmm'n(ﬂ)
(2) Fa@ (B) 3 (C)
(3)  F&# (C) 3 (D)

[Question ID = 1030][Question Description = 130_00_General_19_0CT22_Q30]
1. 1 [Option ID = 4117]
2. 2 [Option ID = 4118]
3. 3 [Option ID = 4119]




7)
The term 'Hermeneutics' is drawn from Q\

1. Sociology (b
2Thelony X
3. Anthropology @

4, Economics
S

[Question | § 1[Question Description = 112_0_GP16_SEP22_52_Q12]
05]

4. 4 [Optfon ID = 2208)



16)
Ina certain code, ‘467" means 'leaves are green’, '485' means 'green is good' and '639' means 'they

are playing', Which digit stands for 'leaves' in that code?

1.6

3.4
4.9

uw Ffda &1s # 467 @1 o URAT g 2, 485 @1 o g T T R ‘639 T Y %%\‘_{3
g 13U Bis § gl &1 3 FF ITe?

3.4

v <&
[Question ID = 561][Question Description = 121_0_GP16_SE%@1]

1.6 (b
S ™

1. 1 [Option ID = 2241]
2. 2 [Option ID = 2242)
3. 3 [Option ID = 2243]

4. 4 [Option ID = 2244] 40

17) {\
Find the missing number in the series: | 0

2, 10, 30, 68, 130, 222, ? (b\
@)
o €>\\'

3.194 Q)

4,104

mﬁ@

2,10, 3%58, 130, 222, ?

2,352
3,194
4,104

[Question ID = 562][Question Description = 122_0_GP16_SEP22_S2_Q22]
1. 1 [Option ID = 2245]
2. 2 [Option ID = 2246]
3. 3 [Option ID = 2247)
4. 4 [Option ID = 2248)



18)
Number of bacteria in a container doubles in every one minute, If the container gets completely

filled with bacteria in 30 minutes, then in how many minutes 1/4 ™ of the container shall be filled
with bacteria?

1,15 minutes
2.16 mits

4, 25 minutes

e T B ST i) 1 S v u e A @ B AR 30 m:‘m@\
¥ Ul oRE WA 8, a1 e et # Ur s 1 /4 HRTSETet & 4R S

Q
Lo S
%

[Question ID = 563][Question Description = 123_0_GP16_SEP22 S@

1. 1 [Option ID = 2249]
2. 2 [Option ID = 2250]
3. 3 [Option ID = 2251]

4. 4 [Option ID = 2252] 400

) Certain number of birds are sitting on two @A and B. Birds sitting on tree A tell to the birds
sitting on tree B, that if 2 birds from tree@_ o the tree A, then we are equal in number, However,
the birds sitting on tree B, tell those n A, that if two birds from your side (tree A) shift to our
side (tree B), then we become do you (tree A). How many birds are sitting on the two trees

A and B, respectively? 0

1.812

3,14, 10

A (] B R ufeet #tuw AT TBn g g6 A a8 vl 34 e R 93 ufet @ wed & B Ak
g6 B T 287 961 A TR JYFITRE 81 S 71 GO Ie7esT T T &1 ST | g 967 B R 98 Uaf,
AUR 43 URA BT @ed & 4 e av ¥ (G4l A) & el gHRT ae (g6 B) RFTARA 8§19 &, ol
S T g6 A T GTAT T | G gt A iR B R R fie ueh 93 82

1,812

3,14,10
457

[Question ID = 564][Question Description = 124_0_GP16_SEP22_S2_Q24]
1. 1 [Option ID = 2253]
2. 2 [Option ID = 2254]

] B T mbime I - 99CCY



20)
The average age of students in a class was 15 years. When 5 new boys whiose average age was 12

years 6 months were admitted in the class; the average age was reduced by 6 months. How many
students were there in the class originally?

1.1

3,18
416

Ud H&MT T ST &1 A ST 15 98 ¢ | 99 BT H § AU | BT Y idb0
e L 12 T 6 HE A o, a7 NG AT 6 HER FHEI TR | ow: HETH

1.18 O
7 N

¥ /\o

[Question ID = 565][Question Description = 125_0 _q P22 $2_Q25]
1. 1 [Option ID = 2257]
2. 2 [Option ID = 2258]

3. 3 [Option ID = 2259] 0
\0

4. 4 [Option ID = 2260]

i If the statement, 'Some pl_a&ceot carnivorous' is given as false, then which of the following
could be immediately inferre
A, '‘Some plarits are c%\mraus' is true
B, 'Some plants e@r‘worous is false
C.'No pla@ carnivorous' is false
D, ‘Al \'ts are carnivorous' is true

Choose the correct answer from the options given below:

1.B, C and D only
2. A and D only
3, Aand Conly




o If the statement, 'Some plants are not carnivorous' is given as false, then which of the following
could be immediately inferred from it?
A, '‘Some plants are carnivorous' is true
B. 'Some plants are carnivarous' is false
C.'No plants are carnivorous' is false
D. ‘Al plants are carnivorous' is true

Choose the correct answer from the aptions given below:

1.8, Cand D only \
2. A and D only %

3. A and C only

KRG e _%ﬁ?ﬁ@ﬁ"ﬁmwwamﬁ@ﬁﬂmﬁ@aﬁmmﬁa

g&Hare ?
f;gﬁhﬁaﬁaﬁ%%' HETE

B. B U Algwelt g1 & e 8

c. ' ®T5 Hrav Alget T gl E e 8
p. Gt o wigeft €1 &, WET R

FH B e Reeat # 9 wet SR A

1, B9 B, CHRD
2. FIAAHRD




22)
A wise sage has said, "The hunger for knowledge is more difficult to remove than the hunger for

food, Therefore, one should stick to the food." Which fallacy is committed in this argument?

1. Begging the Question
2, False Dilemma

4, Appeal to Emotion

U Yfarm Ud & HY & 'ﬁﬁaﬂtﬁmﬂﬁmmﬂqaﬁﬂﬁaﬁgmﬁ@m@
& gufc Sfdd & ioH OR Si® @M 1 91feT 39 7% 4 S 1H-HI dd GIN 87 Q

1, W% BT SR BT QQ

2

[Question ID = 567][Question Description = 127_0_GP16_SEP22_S Q]
1. 1 [Option ID = 2265] &6

2. 2 [Option ID = 2266)

3. 3 [Option ID = 2267] 0

4. 4 [Option ID = 2268] 3 0

"We should value the Moon more than the SynWecause the Moon shines when it is dark whereas
the Sun shines when there is light any@s-statemeﬁt commits the fallacy of:

1. Appeal to Emotion c;b

3, False Dilemma: Sb
4, Equivocation @

&
@)
é‘\
Q}\>

23)

B8 T B e WH BT e TEw SRy a1 TRAT HIRTER IR U1 gl 8, 9afe g
Y@ & H U UETRIT §laT 8" 59 &4 A Fgffad qham e

1, 1T B U ST

381@?1!;

4, gERfEHAT



24)

Given below are two statements, one is labelled as Assertion A and the other is |abelled as Reason
R

Assertion A : According to classical Indian Logicians (Naiyayikas), all fallacies are m_ate"{I fallacies.

In light of the above statements, choose the correct answer from the option below

2. Both A and R are true but R is NOT the correct explanation of@
3, Ais true but R is false OQ

4, Ais false butRis true &

Reason R : According to Nyaya, Syllogism is deductive-inductive and formal-mate{i

T2 By RU R . UH HNHYT (Assertion A) RFY A IRGT 8 71 GHI JGb HR (Reason R)
& ®qH; .
JHHHYA A RIS T HRA T T gt O & IR Wl ah-gy Nfie ah AW el 8 |

[Question l%-569][Question Description = 129_0_GP16_SEP22_S2_Q29]
1. 1 [Option ID = 2273]
2. 2 [Option ID = 2274]
3. 3 [Option ID = 2275]
4. 4 [Option ID = 2276]



24)
Given below are two statemenits, one is labelled as Assertion A and the other is |abelled as Reason

R
Assertion A : According to classical Indian Logicians (Naiyayikas), all fallacies are material fallacies.
Reason R : According to Nydya, Syllogism is deductive-inductive and formal-material. Q\

I light of the above statements, choose the correct answer from the opﬁens_giv@ w

o

2, Both A and R are true but R is NOT the correct explanation of A c):
3, Aistrue butRis false @

4, Ais false butR s true Q

ﬁﬁ?ﬂ'ﬁl{ﬂq? TS HHHYT (Assertion A) & ‘ %ﬁmmmmeason R)
& ¥ Y
S A TR e et (o0 o -2 e 7 < R B

SPTHTHS R NS - s gre |
el IR &1 999 DI,

HRU R AW A & FTIR AH-A10
Iqdad By & s § i

2. ANRRGATITE,
3, ATYE, AR
4, Aamw%m

GAR ARSI

. 1 [Option 3]
2. 2 [Option | 274]
3. 3 [Option ID = 2275]
4. 4 [Option ID = 2276)

[Question IDSS&[Question Description = 129_0_GP16_SEP22_S2_Q29]



25)
Which of the following statements are true regarding Nyaya (Classical Indian School of Logic) view
of hetrabhasa (fallacy)
A, It means that middle term appears to be a reason butis not a valid reason,
B, All fallacies are material fallacies.
C. When an inference is based not on causation but on uniformity of co-existence, \Q ads to a
fallacy. Q%

D. Fallacies occur when any of the five characteristics of a middlle term are vio@

Choose the correct answer from the options given below: \Q

1.A Band C only

<
b N
4 ABCandD
N

maﬁ-ﬁﬁmm@a@ﬁmaﬁé}mmﬁm$mﬁ'm%
A.wmar%f%ﬁimuaaﬁiuﬂaiﬂm% EGIGIGL
5. Wit 7 2, e 7 AW B

C. 5 B3 I BRU-HTY mﬁaﬂﬁmﬂemﬁmmmﬁm%a’l
T8 THEIN I TR 5\

D.Hﬁ‘cﬁﬂw@rﬁ&
i Ru e
1.‘Eﬁﬁc

3, HAE B, C
4.ABC3RD

& e weug o1 ulg REwane & Rt el gt g e

[Question ID = 570][Question Description = 130_0_GP16_SEP22_5S2_Q30]
1. 1 [Option ID = 2277]
2. 2 [Option ID = 2278]
3. 3 [Option ID = 2279]
4. 4 [Option ID = 2280]



Sl. No.21
QBID:351515

Find the missing number in the below given sequence.

4,9 20, 43, 90, ?

(1) 180
(2) 185
(3) 133
(4) 190

id €1 1% e | @ 98 ®f J1d Bt Q}

4, 9, 20, 43, 90,7 Q
(1) 180
(2) 185 (:)Q

(3) 133 @
(4) 190 $0

1[Option ID=22681] &
2[Option ID=22682]

3[Option ID=22683] 0
4[Option ID=22684]

Sl. No.22

QBID:351518

A person is given 10 rupees for shootin a@rget and if he misses, then he has to give
?@nces, then how many chances did he miss?

10 rupees. If he gets 300 rupees for\'

(1) 35 Q®
(2) 45 éo
(3) 55

(4) 25 &Q

U® dAfad Hgliﬂ?ﬂmﬁmﬁﬂﬁmmﬁaﬁﬂﬁﬁaﬁ?ﬁﬁ@m%ﬂﬁaﬂm
fe I 100 HTWR R HH W 300 TU 5 A1 3G b s@aw 9 2

L]
)
o

45
(3) 55
(4) 25

1[Option ID=22685]
2[Option ID=22686]
3[Option ID=22687]
4[Option ID=22688]




Sl. No.23
QBID:351680

There are a total of 15 tricycles and bicycles to be manufactured. If the total number of
wheels available is 40, how many tricycles and bicycles can be manufactured,

respectively?

(1) 5,10
(2) 8,7
(3) 7,8
(4) 10,5

ﬁwﬁmi%muﬁmahmsmﬁmﬁmmémﬁmwm@
B 408, mmmmma@mmmﬁwwm%{\o

(1) 5,10 (b
(2) 8,7 (:)Q
(3) 7.8

1[Option ID=22689] &

2[Option ID=22690]
3[Option ID=22691]

4[Option ID=22692]
Sl. No.24

QBID:351682
In a certain coding language, ‘GIVE' is wr, 'VIEG' and 'OVER' is written as 'EVRO".
How will 'DISK" be written in the sa Q@

(1) SIDK &
(2) KDSI EQ

(4) KISD
e A & E:Qrmﬁ'ewE'ﬁ'WEG'a?r{'OVER'aﬁ'EVROﬁETW%’lgﬁra?l's'ﬁ
'DISK’ ST 2

(3) SIKD
(4) KISD

1[Option ID=22693]
2[Option ID=22694]

3[Option ID=22695]
4[Option ID=22696]




Sl. No.23
QBID:351680

There are a total of 15 tricycles and bicycles to be manufactured. If the total number of
wheels available is 40, how many tricycles and bicycles can be manufactured,
respectively?

(1) 5,10
(2 2,7
(3) 7,8
4 10,5 \
ﬁwﬁm%mammmmmmm%mﬁfmgﬁw
mmé,ﬁmmﬂmmmﬁﬁﬁmmﬁmwmi\

(1) 5,10
(2) 8,7

3) 7,8 Q)

O,%)

1[Option ID=22689]

2[u$:z: ID=22690] 0
|3[Option ID=22691] 0
|4[Option ID=22692] Qx

Sl. No.24

QBID:351682
In a certain coding language, 'GIVE' is‘x as 'VIEG' and 'OVER' is written as 'EVRO".
How will 'DISK" be written in the sa%sg e?

(1) SIDK

(2) KDS 600
(3) SIKD ‘\Q
O

(4) KISD

s g HIST H ‘GIVE' BT 'VIEG' 3R 'OVER' B ‘EVRO' For@1 9ra1 §1 5t Big |
'DISK’ ST ?

WG

(2) KDsI
(3) SIKD
(4) KISD

1[Option ID=22693]
2[Option ID=22694]




QBID:351691
If the statement, 'Some animals are not ferocious' is given as true, then which of the
following could be immediately inferred from it:

A. 'All animals are ferocious' is undetermined
B. 'Some animals are ferocious' is false

C. 'No animals are ferocious' is undetermined
D. 'All animals are ferocious' is false

Choose the correct answer from the options given below: Q\

(2) Band D only AQ)
@)

(3) B, Cand D only @

(4) A, Band Conly OQ

ofe FYF TS U] D %@aﬁm%mﬂﬁmw%?ﬁmmﬁr@aﬂﬁ
fhu®! afis 98 fPasnesare 2
A. Yl U] HIHHS & gl

B.‘WU}'{[W@ HYA Bl

C. ®Ig T8 ¥, afufRa
D." 3PS &, A B
ﬁ%ﬁﬂuﬁﬁd‘fﬁﬁﬂiﬁmgﬁ

(2) HIABIARD
(3) $aAB, C 3R D
(4) PATAA B AR C

3[0ptmn ID= 22703]

B T T T ——————




Sl. No.27
QBID:351701

“Miss World says that the socially correct thing for a vegetarian guest to do at a dinner
party is to look perfectly happy eating salads. Therefore, to act likewise is the socially
correct thing to do”. Which fallacy is committed in the above argument?

(1) Red Herring

(2) Ad Populem

(4) Ad Hominem

9 o @1 Be 6l b TP T@Ter) Jfafy & o fasedt uref F wane @i gof w4 vas
e Us GAfo® &4 Y 681 91 8| 3ER, TEEy B S aHIo® €U 4 98 21
IWRiad ab H B9 ab-am fear T g

(1) I
(2) T3 UIgEH

1[Option ID=22705]

4[Option ID=22708]

Sl. No.28
QBID:351723 &

Given below are two statements \\

Statement |: ‘Some S is P’ |&to ‘NoSis P

Statement Il: 'Some é subcontrary to "'Some S is not P,
t

In light of the a atements, choose the correct answer from the options given
below

(1) B&h Statement | and Statement |l are true
tatement | and Statement |l are false

Statement | is true but Statement |l is false

e ——
DY - 1 PSS, PR, D3 Wl s, PRl & & faudanda g

-I:'PBS, PR, PSS, PRI o, d IU-faudiani® g
Iddd Byl & el A Fafifad Aol # § 981 S g :

(1) B AR 11 GH T B
(2) YT IR 11 THT A &
(3) BY 19 ¢, o HYF 11 3TA B

1[Option ID=22709]

_—rs Rt TN =74 "]




QBID:351855
Given below are two statements

Statement I: According to Classical Indian Logicians, all fallacies are material fallacies.

Statement ll: According to Classical Indian Logicians, fallacies could be purely formal as
well as purely informal.

In light of the above statements, choose the most appropriate answer from the options
given below

(1) Both Statement | and Statement |l are correct QQ
(2) Both Statement | and Statement |l are incorrect ()Q(b

N\
<4
DY - | ; TP HRATT T & 3UR 9+t ab-3u gerdfa ab-giu g

YT - Il :wﬁﬁ@a&m@ﬁ%mﬂﬁ-aﬂﬁ%wﬂmﬁi
el fags HABIRD & U H gl Tohd g

Judad et H FafiRed fddeul # 9 98 S g -

9
(1) HYF 1 3R 1 SF 91 B

(2) FYF | AR I GAf TAd B




QBID 351872

Which of the following statements are true regarding Nyaya view of Inference as a valid
source of knowledge?

A. It is a cognition which presupposes some other cognition

B. It is mediate or indirect

C. It arises through a mark (linga or hetu)

D. That mark is invariably connected with the object of inference (sadhya)

Q

Choose the correct answer from the options given below: Q

(1) Cand D only \Q(é

| (2 A B.Cand D

(3) A BandD only
S

(4) B, Cand D only

ﬁﬁ%ﬁﬁﬁ@ﬁﬂ%$%%ﬂ@a$m T AU Ad S SR A TE &
A. uaufﬁwm% o TS 3 UIH @1 0- mﬂkw%u

B. 9% Sdied U1 (W& B \00

c.gg famargqg Eﬁmmqﬁua‘:?a&ﬂ

D. U8 8 MRuae ¥u A ifird 31

ﬁmwﬁmi\@ -

(1) &ad C jﬁ%

O
0}0

(3) WA; B G?R-D
(4) WBr C ah?D

_ _.1[0ptlon ID=22717]
: n ID=2371§]
3[0pt|on ID=22719]
4[Option ID=22720]

<1 Na 21




16) \
if ‘BEAUTIFUL' is coded as "ADZTSHETK' in some coding scheme, then how will 'HANDSOME' be coded in
the same scheme?

1. GBMETOLD

3. IZMCRPNF
4. IBMCTPNF

gfg ‘BEAUTIFUL' @I &8l BE®TU Gie-T H 'ADZTSHETK' @ ©4 H Heag gl oidl & dl H
'HANDSOME B! {54 TRe Beas Hal JIwT ?

1. GBMETOLD @
3. IZMCRPNF c):

4. IBMCTPNF @

[Question ID = 10244][Que5tion Description = 121_0_GP20 SE@;H

3 3 [o i 75 &
4. 4 [Option ID = 10976] A

17)

The average of prime numbers between 1@
1.9.525 (b
O

2.8625

-!M‘\é\\'

%
9\\}6

1 3R 20 & 99 HToT T &1 H9d T ?

1.9.525
2.8.625

4.8.525



18)
if the selling price of 10 articles is equal to the cost price of 15 articles, what is the profit percentage? ‘

2.40
3.45
4,3333

Q
afe 10 TG BT 3560 Teg 15 TG & FTa §ed & sUaR & ol iy Wlasa i & ? QQ
@)

2.40

3.45
4,33.33 Q@
uestion ID = 10246][Question Description = 123_0_6?20_5@ Q23]
' 2. 2 [Option ID = 10982] 0
3. 3 [Option ID = 10983] AO

4. 4 [Option ID = 10984]

19) Q

.

A certain sum of money on a certain a te of interest becomes Y1008 in 2 years and 31164 in 3%
years. Find the sum and the annual interest.

1.% 800, 12% 0
2.%875, 125% 6
3.2.850, 12% ; Q)

v ffya ﬁfﬂamﬁammmzaﬁmmNh?g%aﬁﬂnsﬂi?faﬁﬂ%lgauﬁwm
aiffes sare &Y SaigY ?

1.800 %, 12%

2.875 %, 12.5%

e

- - — P e L - = 8l -m e A e e o R e e M e AW



22)

Match List | with List Il

List | List Il
|OBVERTEND OBVERSE

A AllSisP I. Some S is non-P
B.NoSisP Il. No S is non-P
IC. Some SisP 1. All S is non-P

D.SomeSisnotP

IV. Some S is not non-P

Choose the correct answer from the options given below:

TL.A-LB-ILC-IV,D-1l

2A-ILB-ILC-1,D-1IV

4A-L,B-ILC-WV,D-I

B.aﬂﬁtl;ls,lﬂﬁ’%i ‘\ | l;ﬁﬁﬂﬁsﬁz-p e B
lc. 35S, P . gt s |R-p &l
D.$SS, PRI y V. $S s IR-P Tl &

T.A-LB-ILC-IV,D-1l
2A-ILB-NL,C-1,D-1IV

4A-N,B-ILC-V,D-1



23)
Which logical informal fallacy is committed in the following argument?

"The maths teacher said that there was to be no talking during the test. So it is fair %ndni had
points deducted for asking to go to the washroom because she felt sick”. Q

1. Appeal to force

2. Appeal to emotion c}Q

3. Appeal to authority

Fraffed gfed o s g1 a1 T @ - G & Rige J Fel 5 olan & ARE DR
dradia gl @I A Sfud & & dR AegE # W gl gRI Eed oF & o 0gd
I b el fau



24)
Which of the following statements are true regarding Nyaya logic?

A. Inference is from the universal to the particular only.
B. Inference is from the particular to the universal only.
C. Inference is from the particular to the particular only. Q\

D. Inference is from the particular to the particular throught the l’a‘@

Choose the correct answer from the options given below; c}Q

2. A only

3.A and B only &

4.8 and D only

C. 0 Had @ Bl B
D. 3FAF %%wﬂmaﬁﬁm%a
12 R gy 4 4 W TR

2. FTAA
3. HIATA3MRE
4. FIAB ARD



- 25)
Which of the following inferences are based on causation according to Nyaya view of inference?

A. Inferring future rain from the dark clouds \

B. Inferring past rain from the swift muddy water in the river Q%

D. When we infer somebody's existence outside of his house since the perso&oncumnﬂy present
in his house

C. Inferring cloven hoofs of an animal by its horns

Choose the correct answer from the options given below: Q@
1.A and C only &0
2.C and D only 0
4.8 and Conly Qko

I & SR & T AT & AR FHia O@raﬁmqartfwuﬁmwhaﬁ?

A. BTd a1Gal 8 HTd] a9l &1 JTHA

B. a1 H gadH 198 W e § Y1 @1 A BT

c. i g s I g D HTHH B

D. 9a &H fodl aafdg aEY IUDT KT 5 B ATHH BN & Flid Tg odied H04 W H Ggaa!



2v)
Find the next term in the series given below

4,16, 8, 64, 12, 256, 16, 1024, 20, ?

2.24
3.320
4.4100

Fa &t 1 Yoft o sp7en ug saEU 7 {\Q

4,16, 8, 64, 12, 256, 16, 1024, 20, ?

T
(o \}‘QQ’

4.4100 &

[Question ID = 10248][Question Description = 125_0 _G-{@PZZ_SE_OJS]

ption ID =
3. 3 [Option ID = 10991]

4. 4 [Option ID = 10992 @Q

21)
if the statement, "All human bei e mortal’ is given as true, which of the following can be inferrec

from it to be true? é

2. No mortals a human beings.

3. Some non-gorefs are human beings.
4. Some %ﬂ

an beings are not mortal.

ofe YA - FH AFT R @1 9 @ ©U F R T § ol FEieiad J € [5ee 99 @ w0 F 3EH 5
EIRETIE

2. @18 W R IR-Aa T B
3. 98 FPR ARG 8l
4. 70 R-AFTIRTRI 8

P —ad o i dAas AP A. . _a S M et al e dAasr A ARhAana FEfAa FAa AR



